(FE—5)
= =
AX =18 L
1. T # 4 B/ NERHG K T KRR R e 5
2. i T % At B B S RAT4—18
3 T E:1j BRIFERE RS Sf 4F 12 4HFET
4. B A B FaAK - TH KRR SE TR IO i T3 —2, EXax s L3 —3(




WCBF /NSRS HE K < VB K iR (e L5 TEMMFSFEFE R E
W & 4 49,639,700 |
T = 4l ¥ & 45,127,000 [

THE BiAE 24 %A & 4,512,700 [




4 PBF /NER ARG 7K - Y K R s L No.
£ R il 7 = ==X ivA BHoAn &  H fi
17 S A
B+ T ]
1| Hetiais T d 2 27,604,500
| EXHTH = 3,676,578
B TS 31,281,078
SiSiE
| Lamfnazss A 3,148,882
| Biasns = 5,400,115
| ey 2 5,297,399
HmEG 13,846,396
&t 45,127,474
XA AE (L) TR FEvET 45,127,000
B 4 10% 4,512,700
WER(LHEE) 49,639,700




& BB /N AHE K - TH K B e T No.

4 giN il 23 o & BAT Bl & KA

I BRI T
1 |R/KER M L 1 = 22,757,848
2 |HEAKERE T3 1 X 353,680
3 [WEkERE T 1 = 1,478,835
4 |EHEERTE 1 X 377,893
5 |[WETEH 1 =X 1,786,139
6 |FAEMLSE 1 K 850,105

&t 27,604,500




£ By BOEF/NFEREHG /K« TE K ER i g T3 No.

4 i T C2 iy BAfT 4 A i
I |&E5EE L5

1) EAT % 1-1) EAT oy 1 K 135,320

1-2) 2B MMy 1 K 203,328

2) B 1M 2-1) Eh F3 451 1 = 3,010,060

3) K SN FAH 1 3K 180,960

)R LH 1 = 146,910

&t 3,676,578




